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1 100kN/m#E#BZ % — -~ — —|3mEEZD -~ - — —| 100kN/mi%E#BZ % — -~ — —|3m%EEZD -~ — - —
zhs 1.00| 0.00 ~ 3.65 46.01 | zHnLA4+ | 000 ~ 3.65| 2.17 10.95 zh s 1.00| 500 ~ 5.00 46.01 | =Ll | 500 ~ 5.00| 2.17 10.95
9 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ - — —| 100kN/mi%E#BZ % — -~ — —|3m%EEZD -~ — - —
zhs 1.00 | 0.00 ~ 7.67 9839 | #h L4t | 000 ~ 7.67| 2.02 10.22 zh s 1.00| 5.00 ~ 10.91 98.39 | #h U4t | 5.00 ~ 1091 | 2.02 10.22
3 100kN/mM#%#B x5 1.00| 0.00 ~ 0.39 105.73 |3m%EF{EZ S -~ — — —| 100kN/m%8%%| 1.00 [1056 ~ 11.64 105.73 |3m%EFkEZ S -~ - — —
zhs 1.00| 039 ~ 8.17 100.00 | £h st | 000 ~ 8.17 | 2.15 10.87 zhs 1.00 | 500 ~ 10.56 100.00 | £h st | 500 ~ 11.64 | 2.15 10.87
4 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ - — —| 100kN/mi%E#BZ % — -~ — —|3mEEZD -~ — - —
zh s 1.00| 0.00 ~ 472 58.80 | #n LISt | 000 ~ 0.00| 1.65 8.32 Th s 1.00| 500 ~ 5.00 58.80 | Zn LISt | 5.00 ~ 500 1.65 8.32
5 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ - — —| 100kN/mi%E#BZ % — -~ — —|3mEEZD -~ — - —
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zhs 1.00| 0.00 ~ 6.08 76.24 | ZhList | 000 ~ 0.00| 1.70 8.59 Th s 1.00| 500 ~ 7.00 76.24 | Zhlist | 5.00 ~ 7.00| 1.70 8.59
7 100kN/m%E#BZ % — -~ — —|3m%EEZD -~ - — —| 100kN/mi%E#BZ % — -~ — —|3mEEZD -~ — - —
zhs 1.00 | 0.00 ~ 4.67 58.19 | ZhList | 000 ~ 0.00 | 1.62 8.18 zhs 1.00| 500 ~ 5.00 58.19 | Zh st | 5.00 ~ 500 | 1.62 8.18
100kN/m#E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhs ~
100kN/m#E#BZ % ~ 3ImZHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/m%E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/m#E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
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100kN/m#E#B 2 % ~ 3ImEHEZD ~ 100kN/m%E#B 2 % ~ 3ImEHEZD ~
ZTh s ~ Zh st ~ ZTh s ~ Zh st ~
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